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d, Pim Nj\_ no\modib amjh i`\m C\gb\gd\ ?jii`^odib >\bc_jbm\* ?c\gn\*
J\b\mf\o\* @ g̀b\\i D\ndh\m\* B\e\]c\ogoc\r\ di S`no >`ib\g*
Gj`cpb\ji \i_ Od_gd di =nn\h \i_ o`mhdi\odib i`\m >de\d ji JD 1/,

\, Pc` Ddbcr\t no\modib amjh don epi^odji \o L\df\i ji JD 15 di =nn\h
jii`^odib Ppm\ \i_ o`mhdi\odib \o @\gp di I`bc\g\t\,

Pc` Ddbcr\t no\modib amjh don epi^odji \o >\dc\o\ ?c\m\gd ji JD 1/
di =nn\h ^jii`^odib P`ukpm* >\i_\m @`q\* Jjmoc H\fcdikpm* L\nnd+
bc\o* P`np* Odo\k\id \i\ o`mhdi\odib i`\m O d̂fcj\bc\o ji JD 15, 30

2, Pc` Ddbcr\t no\modib am^h don epi^odji \o >\i_\m @\r\ ji JD 30di
=rÄh \i_ o`mhdi\odib \o Eo\i\b\m di =mpi\^c\g Lm\_̀ nc 3\=

3, Pc` Ddbcr\t no\modib amjh don epi^odji i`\m >\_\mkpm ji JD 22 di
=nn\h %jii`^odib Odg^c\m* Fdmdbc\o \i_ o`mhdi\odib i`im Ehkc\g ji
JD +

4, Pc` Ddbcr\t no\modib amjh don epi^odji \o Odg^c\m di =nn\h ji JD 31
^jii`^odib =du\r\d \i_ o`mhdi\odib \o Hpibg`d di Idujm\h
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